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e Please check that this question paper contains 23 printed pages.
e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
e Please check that this question paper contains 23 questions.
¢ Please write down the Serial Number of the question before attempting it.
¢ 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
ACCOUNTANCY
freiiea a7 - 3 g2 ST 3 80
Time allowed : 3 hours Maximum Marks : 80
am e

(i) FEUo7.97 TSl 4 favaa &— F Rk & |
(ii) TUS & qUl & forg fard & |

(iii)

GUE @ % gt ey & — faweq — 1 [T faeron &7 fageiaur aor faswed — 11 3ifesiord
AGIHT |

(iv) TUS & G ST U & faeeT & Jo1 & o7 [earaa |
(v) [oal go7 & @4 @usl & 3% 0% & & T ford S =@y |

General Instructions :
(i)  This question paper contains two parts A and B.
(ii) Part A is compulsory for all.

(iii)

Part B has two options — Option — I Analysis of Financial Statements and Option — I1
Computerized Accounting.

(iv) Attempt only one option of Part B.
(v) All parts of a question should be attempted at one place.
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gue - &
PART - A

(AT GHT T Hrafat & foe sraie)

(Accounting for Partnership Firms and Companies)

a1 fafee 3 3 10 U % 100 THaT 3790 1 T 2 Ui 3797 1 Werq AT 8T BT P =
T G BT KT foran | T2 Ui 391 ot AT Ao S /i ST e |

T DT SATTHAT T Bl TUMT BT 7 T 37 79T 1 = 79 T ST qepe1 € |

Y Ltd. forfeited 100 equity shares of ¥ 10 each for the non-payment of first call of I 2

per share. The final call of ¥ 2 per share was yet to be made.

Calculate the maximum amount of discount at which these shares can be

re-issued.

TR T 7 T 100 &% & 1000, 9% FOT9E 1 6% & I3 W FHd 2 & fow stee
3 fFT | 1,200 0T & foIT 3768 U gU | @t STagsHh i SIS MR W

s Y far T |

IE A §U R AR ART A SEEH o T FEAT AT, TN & AT & forw
YT AT WfeedT i |

X Ltd. invited applications for issuing 1000, 9% debentures of ¥ 100 each at a discount
of 6%. Applications for 1,200 debentures were received. Pro-rata allotment was made to

all the applicants.

Pass necessary Journal Entries for the issue of debentures assuming that the whole

amount was payable with applications.



3. O 91 Y UH BH & WIRRR ¥ T AN SXER dted o | 3w T gstt wEen: ¥ 1,00,000 TR
% 50,000 o | TR Gor@ H ST W 10% A6 ST 1 WEEE o1 | 31§, 2016 B
T gT Y % oI OSil O &1ST OT foT ®H o T ol sfedRT Y TS 7 |
Tg Ff & Y B TEvTH THERH Uit HifTT | 1

P and Q were partners in a firm sharing profits equally. Their fixed capitals were
% 1,00,000 and X 50,000 respectively. The partnership deed provided for interest on
capital at the rate of 10% per annum. For the year ended 31* march, 2016 the profits of

the firm were distributed without providing interest on Capital.

Pass necessary adjustment entry to rectify the error.

4. TG UH BH & GEER o TAT BT 4 : 3 % I H e & | I T B TH T4
TERR I | &, @ qAT 7T o T F97 o 3T 3:2: 2 A7 | & 370+ AT &l Y4 90T 7T %
U1 H T AT | @ % W Sl TUAT DAY | 1

A and B were partners in a firm sharing profits and losses in the ratio of 4 : 3. They
admitted C as a new partner. The new profit sharing ratio between A, B and C was

3:2:2. A surrendered % of his share in favour of C. Calculate B’s Sacrifice.

5. T[T e YT U WY % WERR 9 | F B § 31 ST LT i VA A1 I o | Aetent &
SR =t bt Ul el &1 AR B e QA = 76 510 ®H | Jaw el fear s
YehdT | 1
Gupta and Sharma were partners in a firm. They wanted to admit two more members in

the firm. List the categories of individuals other than minors who cannot be admitted by

them.

6. T WEERI B T AT ST A el & ? 30 ST % 999 § $RUT ST | 1

Does partnership firm has a separate legal entity ? Give reason in support of your

answer.
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7. o faee 10 U & gEar SN H fave 3 8,00,00,000 H TS St o @rer
USighdt & | HET Bt AR T goT ue UST 3 4,00,00,000 o | TG ogeshi S TSI
TR Y & T ST HYHR T & ATHIOT &75 & g & fofg et 3 et 57t § weh
T U e sl TG B (07 foran | et 3 o, SR qen 98 | et fosr
1 Bl TG 1 o 90T foman | oToet el foriiar STervasharsti s IRT e & feTd ST
% 10 7@ % 1,00,000 FHAT 3790 T2 % 100 T&H & 10,000, 9% FOT9E & 1= &1 FHoig
foram | RoTos 1 WY 9re A o qeETd BT A7 | FEAT R0 A>T FOTHA A A e §
ST & TR | 1000 379 3T Ueh SeeRe T 2 Wiy 3197 it SAfaq e it 6 ST e

T 3% @ |
FHEAT I, 2013 gt 11 3 WEEMET % STER HA! & [efd foeror 9 afer geit
T TR HISTT | TF fomel 31 ol bt Tear ot HifsTT 5778 et e e =t § |

Akash Ltd. is registered with an authorized Capital of I 8,00,00,000 divided into equity
shares of ¥ 10 each. Subscribed and fully paid up share capital of the company was
% 4,00,00,000. For providing employment to the local youth and for the development of
the rural areas of the Jammu and Kashmir State the company decided to set up a food
processing unit in Anantnag district. The Company also decided to open skill
development centres in Ladakh, Srinagar and Punch. To meet its new financial
requirements the company decided to issue 1,00,000 equity shares of I 10 each and
10,000, 9% debentures of I 100 each. The debentures were redeemable after five years.
The issue of equity shares and debentures was fully subscribed. A shareholder holding
1,000 shares failed to pay the final call of ¥ 2 per share.

Present the share capital in the Balance Sheet of the company as per the provisions
of Schedule III of the Companies Act, 2013. Also, identify any two values that the

company wishes to propagate.

67/1/3 4



8. g fafmes 7 %, fafade ¥ eI =1 %7 fopa | Sig fatee 3 & fafies &t i weer &
BUGIEREDIE
(i) T 10 vF & 5,000 FHAT 0 B 30% & AT W FHIHT Hh |
(i) ¥ 100 Y= % 1000, 8% O I 10% % Fg W T H2h |
(iii) 31 T 48,000 T &1 HIE GET 37 Teb T S |
e, fafade & Tt § A-RI % 9 a1 &, fafade &l 3% I &l evdd AsHHE
yfafted! ST | 3
Z 1.td. purchased machinery from K Ltd. Z Ltd. paid K Ltd as follows :
(i) By issuing 5,000 equity shares of ¥ 10 each at a premium of 30%.
(i) By issuing 1000, 8% Debentures of ¥ 100 each at a discount of 10%.
(iii) Balance by giving a promissory note of ¥ 48,000 payable after two months.

Pass necessary journal entries for the purchase of machinery and payment to K Ltd. in

the books of Z Ltd.

9. 3R, I, WiEA a1 Wied Uh BH F WERR T qA 2 ;2 : 2 : 1 % U § A ded o |
31 STFERY, 2017 T TEA = STohTeT Te0T X ol | Te & STl UguT i+ T &Y i T
& Yo T 70,000 fRaT AT | SR, W TS Hiegd kWA 50 1 1 % AT AW I B
o fepam T |

3T FIAHRT feout it T ST §U AIeA & STaHRT TeUT FXA W AT 6 A@ihd &
o0 T ot qXAehl | 3ATeash s Hfafte Hifsw | 3

Amar, Ram, Mohan and Sohan were partners in a firm sharing profits in the ratio of
2:2:2:1.0n31"] anuary, 2017 Sohan retired. On Sohan’s retirement the goodwill of
the firm was valued at ¥ 70,000. The new profit sharing ratio between Amar, Ram and

Mohan was agreedas 5:1: 1.

Showing your working notes clearly, pass necessary Journal Entry for the

treatment of goodwill in the books of the firm on Sohan’s retirement.
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S Hied fafies 7 3o T 100 UdlF % 200, 8% FOME! 6, = 6% & 93 W fifua fean
T T, T 10 A o 9T 319§ URatad fRar | qHar R o FET 25% % ey W)
T T | 8% RUTYAT & AT O 92 T 3} Ik STufeTiad el fohar T ¥ |

31O IR ool i Ted ¥ T §U 8% FOTIE! o THAT ¥ H GRacH WX STavas
ST Tiafeat T |

Jain Motors Ltd. converted its 200, 8% debentures of ¥ 100 each issued at a discount of
6% into equity shares of ¥ 10 each, issued at a premium of 25%. Discount on issue of
8% debentures has not yet been written off.

Showing your working notes clearly pass necessary Journal Entries on conversion of

8% debentures into equity shares.

I TAT T Ueh FH o HERR & TAT 1 : 2 % ST | o dfed & | 3! T ISt ShHe:
% 2,00,000 T  3,00,000 = | 1 3T, 2016 T FHAR HI 1 & 1/4 96T % € T 741
TERR &1 T | fRem 370t St 3 fetw 3 2,00,000 e f9 a6 @ 6ot sht Ufstar b
TE T T@T ST &7 | foheTiT 3 T T 3791 ST %07 § W foham |

TSF¥TR o TaT WX H ol AT Sl TUMT IS T 3, TE0T TS [HR o 2 &1 31T i
UM ST | FRIR & JaeT R A1 & oi@ish o [T 3Teeass Isen Uiaie ot it
Tg T §U o FeReT w1ty STeeiTT &1 ST ST A91S el ot |

Karan and Varun were partners in a firm sharing profits and losses in the ratio of

1 : 2. Their fixed capitals were ¥ 2,00,000 and ¥ 3,00,000 respectively. On 1+ April,

1
2016 Kishore was admitted as a new partner for Zth share in the profits. Kishore brought

% 2,00,000 for his capital which was to be kept fixed like the capitals of Karan and
Varun. Kishore acquired his share of profit from Varun.

Calculate goodwill of the firm on Kishore’s admission and the new profit sharing ratio
of Karan, Varun and Kishore. Also, pass necessary Journal Entry for the treatment of
Goodwill on Kishore’s admission considering that Kishore did not bring his share of

goodwill premium in Cash.



12. ERIT, a9 TAT TR U BH o HSER & @21 2 : 2 : 1 % 0 § o ated & | ®F 370!
Tk Ui a9 31 A R a5 Al § | 30 FATER, 2016 S AT H @ & T | FERR
Torg T a1 fof et TEieR S gog W39 (R i 37 g

(1) ST ISt @I T 99 q&1 GoTt W 12% a1k &t | 1-4-2016 i 5T & Yoit @t

9 T 1,00,000 2T |

(2) YT & AT H EH & A H ITH 9T, A o Ugel a9 & a5 W 95 o i

TT g Tohar AT S IR 25% ot 1 30 TR, 2016 99 9 & fashd €9,00,000 T |

(3) Y H ST H IR 9T | HIIT Sl G W HH Hl S 1 7w T 1,50,000 THar

|

RN Tolg H I8 ot Wag o1 6 G |EiER & 53 AT § § F= 0wl ol ST

(1) T & a9 | ITH I | 30 TIaT=R, 2016 TH HIMT T 30T T 4,000 T |

(2) 3RO W 6% SNk =0T STt T % 120 i T2 |

HE & TOEe o UEqd A o o1 BH o oi@uTel 5 TSI ST @Il JAR {ohaT W Steal H
3T TH TR DI G | B & I@uTeT §RT AIR {haT T BT 1 GSi @i A e o

™
Dr. HEIT T STt Qe Cr.
fafer feraror T fafer faaror T
4 4
2016 2016

fga=30 | 4,000 1| 1,00,000
............... - Em|30 | 6,000
............... - eereeeeeee | 90,000
............... 40,000
............... 20,000
2,56,000 2,56,000

T 3 doh T = R
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Sandeep, Mandeep and Amandeep were partners in a firm sharing profits in the ratio of
2 : 2 : 1. The firm closes its books on 31* March every year. On 30" September, 2016
Mandeep died. The partnership deed provided that on the death of a partner his

executors will be entitled to the following :

(1) Balance in his capital account and interest @ 12% p.a. on capital. On 1-4-2016 the
balance in Mandeep’s Capital Account was < 1,00,000.

(2) His share in the profits of the firm in the year of his death which will be calculated
on the basis of rate of net profit on sales of the previous year which was 25%. The

sales of the firm till 30 September, 2016 were < 9,00,000.

(3) His share in the goodwill of the firm. The goodwill of the firm on Mandeep’s
death was valued at ¥ 1,50,000.

The partnership deed also provided that the following deductions will be made from the

amount payable to the executor of the deceased partner :

(1) His drawings in the year of his death. Mandeep’s drawings till 30 September,
2016 were % 4,000.

(2) Interest on drawings @ 6% per annum which was calculated as I 120.

The accountant of the firm prepared Mandeep’s Capital Account to be presented to the

executor of Mandeep but in a hurry he left it incomplete. Madeep’s capital Account

prepared by Accountant of the firm is shown below :

Dr. Mandeep’s Capital Account Cr.
Date Particulars | Amount | Date Particulars | Amount
L4 4

2016 2016,
Sep.30 | il 4,000 April 1 | ..oooenininen. 1,00,000
A O - Sep.30 | ooeiiiiinnnn. 6,000
A O - P 90,000
S 40,000
S 20,000
2,56,000 2,56,000

You are required to complete Mandeep’s Capital Account.

8
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(@)
(i)

TR AT ST TS A foRaT S |

HER &TTAY(d Ga & foeeg I8 1 3FEA 2 2,00,000 TIET 7147 |
TRIERT ol Ui 61 FHREISH T3 o ST 5 {1 ST 30 ST aR STevgsarar

THCIR G, WIEIRRT & Ustl @I 77 YAiiad ®H ol ifq foeror dar iy |

Liabilities Amount Assets Amount
4 4
Capitals : Fixed Assets 12,70,000
P 2,00,000 Current Assets 5,30,000
Q 3,00,000
R 4,00,000
S 5,00,000 14,00,000
Sundry Creditors 2,30,000
Workmen
Compensation Reserve 1,70,000
18,00,000 18,00,000

W, 9, TR T TF U FH o AERR & TA7 1 : 4 : 2 : 3% ¥ ° o ared o | 1-4-2016
i 37T Feafq foreror e uepR @ o
1-4-2016 % Tt, T, AR 74T T 1 Fefa faawor

IS T et 12,70,000
qf, 2,00,000 1o} Tt 5,30,000
= 3,00,000
a0y 4,00,000
T 5,00,000 | 14,00,000
o= es 2.,30,000
HER &g g= 1,70,000
18,00,000 18,00,000
SUT [ 9 WEERl 7 9/ § ol s)e} died & M0 6 | 36 w1 % fow wH @
A1 1 gedie < 2,70,000 foar = |
RN F 4 o I | o i foran

P, Q, R and S were partners in a firm sharing profits in the ratio of 1 : 4 : 2 : 3.
On 1-4-2016 their Balance Sheet was as follows :
Balance Sheet of P, Q, R and S as on 1-4-2016

[P.T.O.



14.

15.

From the above date the partners decided to share the future profits equally. For this

purpose the goodwill of the firm was valued at ¥ 2,70,000.

The partners also agreed for the following :

(i)  Claim against workmen compensations reserve was estimated at ¥ 2,00,000.

(i) Capitals of the partners was to be adjusted according to the new profit sharing
ratio by bringing or paying cash as the case may be.

Prepare Revaluation Account, Partners Capital Accounts and the Balance Sheet of the

reconstituted firm.

1-4-2015 =t WAl 3R, fAafee 7 ¥ 1000 9= & 750, 11% FO= & FmT 5% & a9 ™
T | RO S IMEA AW S o TR 10% % SEeT W R & | FOTE WA
30 TR qan 31 A & 3T BT & | WAt R, e st qkash ufd v 31 HE A a9
FIA & | T T FT Ferd B I 10% T |

31 A€, 2016 W GHNG §C a9 % [oIT RO o FEEA T2 ST % e & STaeas
ST Afafeat HitTy |

On 1-4-2015 PVR Ltd. issued 750, 11% debentures of ¥ 1,000 each at a discount of 5%,
redeemable at a premium of 10% after three years. Interest on debentures is payable on
30™ September and 31% March. PVR Ltd. closes its books on 31* March every year. The
rate of tax deducted at source is 10%.

Pass necessary Journal Entries for the issue of debentures and the payment of interest for
the year ended 31* March, 2016.

T ®H & foae W = sraenst § 21evash AsHET Uiareat Hi

(i) TP WEER, &8, F T 12,000 & 9a4 W {F0eT Wichar = @ o o et fopar
3 foaed =@t it ge A o1 | T =5 T 11,000 S TaE eRT g7 foRar T |

(i) UH WEER, 5, H faueT ufhar &t @@ & forw fge fear mar @ 3@ T 15,000
T fear T | ST foues = 9ed A % ol Teud & T | andtosh foue 2
% 16,000 T ST Teh TR AEIER G50 7 577 &t T F R |

(iii) U WHER, 0T, Fi foaee uishar &t @@ % oy g fomar man | e o 59
% 7,000 1 aa fzan mar | 7 faeed 3t 1 TaE HRe % ol Jend ot | ardtaeh
farerest =23 3 6,000 1 T ®H o o @id @ foam
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(iv) UF 9ERER, 89, T 7,500 W 8T w1 99 & ot 98qd & T | SH 9 AT A
Wit 30 HHYE & €T H of [o7d7 | ik & W0 T8l & faueT @ | ¢ &
T T |

(v) U GERER, Sid, fa6eT & 1 & 6T Tedd & 741, 39% v 39 T 10,000 FHH9HE
fean Mo | T fome =t # JTae R % ol Wend @ T | S{id gRy e {6 T
aredtess foraed 29 T 12,000 2 | 39 81 S PTa Sie 3 BH F RN S 30T Wb
e |

(vi) ¥ 8,000 T U 38R, {STEh! AT T Teet &l [aHe @ § WFAR < &3 T o, 3
31O 0T % qUT e % foTe faeres =93 3 7,800 % T & feTe Wentd §f |

Pass necessary Journal Entries on the dissolution of a firm in the following cases.

(i) Dharam, a partner, was appointed to look after the process of dissolution at a
remuneration of I 12,000 and he had to bear the dissolution expenses.
Dissolutions expenses % 11,000 were paid by Dharam.

(1) Jay, a partner, was appointed to look after the process of dissolution and was
allowed a remuneration of ¥ 15,000. Jay agreed to bear dissolution expenses.
Actual dissolution expenses % 16,000 were paid by Vijay another partner on behalf
of Jay.

(ii1) Deepa, a partner, was to look after the process of dissolution and for this work she
was allowed a remuneration of ¥ 7,000. Deepa agreed to bear dissolution
expenses. Actual dissolution expenses I 6,000 were paid from the firm’s bank
account.

(iv) Dev, a partner, agreed to do the work of dissolution for I 7,500. He took away
stock of the same amount as his commission. The stock had already been
transferred to realisation account.

(v) Jeev, a partner, agreed to do the work of dissolution for which he was allowed a
commission of ¥ 10,000. He agreed to bear the dissolution expenses. Actual
dissolution expenses paid by Jeev were ¥ 12,000. These expenses were paid by
Jeev by drawing cash from the firm.

(vi) A debtor of X 8,000 already transferred to realization account agreed to pay the

realizations expenses of ¥ 7,800 in full settlement of his account.

11 [P.T.O.



16. =g qAT 3R UH FH & WEIGR & T2 3 : 2 % 3 § @ dfed & | 31 A, 2016 H SAH
Tt fereror =7 wepr & o
31-3-2016 T T AT AW H Feafer fawor

fafi= e e 20,000 | TFHE 12,000
Tad T o TTT wTae 2,000 | 3_R 18,000
3T aad 3,000 | =% 20,000
= S9g 5,000 | ®HTER 40,000
oS A AT HART 40,000
T 60,000
AR 40,000 | 1,00,000
1,30,000 1,30,000

ST Tafer =B, 1 St o |1 G B AT & 1/6 AT o I Ueh =74 QISR ST T

() I 7o STt % fetw T 30,000 AT T W % S 9N % T T 10,000 R,
TSTEeRT 3T T o T 3R ERT S0 & frdl ST |

(i) ¥ 1,500 % AR Bl T FON b T § ARG HY [§A7 STET T S8RI W df5my
TS I FON & {10 5% T AEE fhar ST |

(iii) T&A AAT T YA T AT S |

(iv) TIH W 10%, FHER W T 500 T e T4 TR T 8% Hoagrd aar ST |

(v) ferfq foemor § =&t g9 m T 2,500 % FHawn 1 e o s o

(vi) 2,100 1 T SRR, et oiam q&aeh § & fopar mar €, ot o fear s |

HH i YR W L & TAST W ST Tl o ol STTaeas I ufafest iy |

YT
TY, T qAT ST U ®H & TIERR & T4 5 ¢ 3 : 2 % 3U B oy dfed o | 31 /i, 2016
3! et faaRor f= e 3 o

31-3-2016 &1 TH.UA, F2T St BT feafa faamor

TR 55,000 | g 40,000

qE= GO 30,000 | I_R 45,000
TSI W T WEEH 5,000 | 40,000
w™ 1,50,000 ik 50,000
o 1,25,000 ENICK 1,50,000
Sl 75.000 | 3,50,000 | THE 30,000
T 1,00,000
AT-EI @ 25,000
4,35,000 4,35,000
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IR T st U7 F STaehTeT UevT feRar qEn f WY el ge

() ¥ 2,000 % IR BT T FOT o T H TTATGT AT ST TN IASRT R Glgmy e
WW%WW@S%WT@H@M

(ii) Ul I qUId: STUTATE T ST T ieh, HeN-RI Ue e W 5% Hedgrd ohma
ST |

(iii) ¥ 10,000 T Tk AER, et i@ et feban 7T &, 1 i@ o S |

(iv) UF @1 ST 9T § o 2 ¢ 3 % S § S |

(v) TH % 3TFHRT UgU - TR FH 3t &A1d S gedishd T 3,00,000 fam = |

TH & TR TEUT X T SIS Tl o 7T FH I JXART | STEvTH IS Hfafeat

HIT | 8

W and R are partners in a firm sharing profits in the ratio of 3 : 2. Their Balance Sheet
as on 31 March, 2016 was as follows :

Balance Sheet of W and R as on 31-3-2016

Liabilities Amount Assets Amount
3 3
Sundry Creditors 20,000 | Cash 12,000
Provision for Bad Debts 2,000 | Debtors 18,000
Outstanding Salary 3,000 | Stock 20,000
General Reserve 5,000 | Furniture 40,000
Capitals : Plant & Machinery 40,000
w 60,000

R 40,000 | 1,00,000

1,30,000 1,30,000

I th
On the above date C was admitted for gt share in the profits on the following terms :

(i) C will bring ¥ 30,000 as his capital and I 10,000 for his share of goodwill
premium, half of which will be withdrawn by W and R.

(ii) Debtors ¥ 1,500 will be written off as bad debts and a provision of 5% will be
created for bad and doubtful debts.

(i1i1)) Outstanding salary will be paid off.

(iv) Stock will be depreciated by 10%, furniture by ¥ 500 and Plant and Machinery
by 8%.

(v) Investments I 2,500 not mentioned in the balance sheet were to be taken into
account.

(vi) A creditor of ¥ 2,100 not recorded in the books was to be taken into account.

Pass necessary Journal Entries for the above transactions in the books of the firm
on C’s admission.

OR
67/1/3 13 [P.T.O.



M, N and G were partners in a firm sharing profits and losses in the ratio of 5:3:2. On
31-3-2016 their Balance Sheet was as under :
Balance Sheet of M, N and G as on 31-3-2016

Liabilities Amount Assets Amount
4 4

Creditors 55,000 | Cash 40,000
General Reserve 30,000 | Debtors 45,000

Capitals : Less Provision _ 5,000 40,000

M 1,50,000 Stock 50,000

N 1,25,000 Machinery 1,50,000

G 75,000 | 3,50,000 | Patents 30,000

Building 1,00,000

Profit & Loss A/c 25,000

4,35,000 4,35,000

M retired on the above date and it was agreed that :

(i) Debtors of ¥ 2,000 will be written off as bad debts and a provision of 5% on
debtors for bad and doubtful debts will be maintained.

(i) Patents will be completely written off and stock, machinery and building will be
depreciated by 5%.

(ii1) An unrecorded creditor of 310,000 will be taken into account.

(iv) N and G will share the future profits in the ratio of 2 : 3.

(v)  Goodwill of the firm on M’s retirement was valued at 3 3,00,000.

Pass necessary Journal Entries for the above transactions in the books of the firm on

M’s retirement.

17. TTHTE, famee 7 % 10 & % 1,00,000 THAT ST i T 6 Ui 3797 o e W i
FA & T STres ATl foRd | T ST ST e W @ AT o
3MMEE WX ¥ 4 Tia 3197 (3 2 et dfed)
3Mees W 5 7t 37T (% 2 3tfgemy |ied)
T AT WX T 4 Uiq 3197 (3 2 e dfed)
O AT ST AT W — I AT
WW:M@WI
400 3791 % Uh R, FAR, = e AT FH1 IAH &1 [Har q&r 1000 37T & TH GRF,
I, 7 3TEe AR & T AR SRR T P X AT | 3MeeA & e 99 FAR &
3T T &0T T {11 T2 3ok U9, Herm ATeHT 07T | TS | 300 ST o Ueh e, T[T, =
T ATEAT T ST A TEl fRAT T 600 3T 3 Ueh &R, TITel, = Werd AraT 11T o 9o
T ATEAT AT A0 F A F AT | T AT AR W R qvEd e o STl
T T foTal AT | Sk T GERI qT St areE A /Rl T | SO Ared A W S
Tt ITeT T & T |
T o T Wt 37N T 3 9 Wi ST qUf wew qA: TR ) feam T o
SIS TS o ToTT ST 3t qRAehl | STevaeh AsHIHET Hfafteat Hif |
reran

67/1/3 14



TR, fafmes 7 ¥ 10 U&% % 1,00,000 FHAT 3790 I T9ed W AT 1A & fore
MERA AT foFa | R T T 7 UehIx & ST o

3TeE WY T 3 Ut 379r
eeT W T 4 Ui 3190
T T 3w AT O¥ 3 3 ufd 3197 |

e & AT Sty iR g3 | 20% 37e % 3MARAl S T HY AT T qr 3MeR AR
MY TSI TS | I SATSEhI i 9 YR T SA1ee fomar T

q&n
I 1,60,000 80,000
II 80,000 20,000

e I U SAfdfe AT oh1 HIES 2MeeT qer U9H Ue AT~ JreqT W g AT J
foran | @ areET |/ S T q9r U € e, S [ % U TRk Sl Sigsl fE 320
79T o foTu 3Tmars foham o | 39ar 3191l 3T 80T K fotal T | 80T fohat T3 379m =t 3 15 uid
37 90T wew g T 6 e T o

SIS o el & ot TeRue. fafee & gl § oTavas AsHrar gareat Hie |
SMATIFHATIR 3T AT QAT T ST AT Wl WifeTy | 8

AXN Ltd. invited applications for issuing 1,00,000 equity shares of I 10 each at a
premium of X 6 per share. The amount was payable as follows :

On Application ¥ 4 per share (including % 2 premium).
On Allotment ¥ 5 per share (including % 2 premium).
On First Call R 4 per share (including ¥ 2 premium).
On Second and Final Call — Balance Amount.

The issue was fully subscribed.

Kumar the holder of 400 shares did not pay the allotment money and Ravi the
holder of 1,000 shares paid his entire share money alongwith allotment money.
Kumar’s shares were forfeited immediately after allotment. Afterwards first call was
made. Gupta a holder of 300 shares failed to pay the first call money and Gopal a
holder of 600 shares paid the second call money also alongwith first call. Gupta’s
shares were forfeited immediately after the first call. Second and final call was made
afterwards. The whole amount due on second call was received.

All the forfeited shares were re-issued at ¥ 9 per share fully paid up.
Pass necessary Journal Entries for the above transactions in the books of the company.
OR
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XL Ltd. invited applications for issuing 1,00,000 equity shares of ¥ 10 each at par. The
amount was payable as follows :

On Application ¥ 3 per share.

On Allotment X 4 per share.

On First and Final Call X 3 per share.
The issue was over-subscribed by three times. Applications for 20% shares were
rejected and the money refunded. Allotment was made to the remaining applicants as

follows :

Category No. of Shares Applied No. of Shares Allotted
I 1,60,000 80,000
II 80,000 20,000

Excess money received with applications was adjusted towards sums due on
allotment and first and final call. All calls were made and were duly received except
the final call by a shareholder belonging to Category I who has applied for 320 shares.
His shares were forfeited. The forfeited shares were re-issued at I 15 per share fully

paid up.

Pass necessary Journal entries for the above transactions in the book of XL Ltd.

open calls in-arrears and calls in advance account whenever required.
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18.

19.

20.

21.

67/1/3

Qe -9

PART -B
fawea -1

Option — I
(fereitar faawott w1 farvewon)
(Analysis of Financial Statements)

kg VAT TOeRUT TR A THT “Aeh a7 IR e&i’ ol &4 § =Tal T@T ST | .7 2 1

‘Cheques and drafts in hand’ are not considered while preparing cash flow statement.
Why ?

g TaTE fIavol TR S & 62l g ol ol Sooid HIfT | 1

State any two advantages of preparing cash flow statement.

“foritar fereror fageimor =t femeel a1 |imrett e el 31 STeal & Seoi HiTT | 4

State any two limitations and any two objectives of ‘Analysis of Financial Statement’.

U FHAT T ATl 3T 0.8 : 1 & | SR Gfed sy & Fefafad oeat ¥ aerar
ST S, T 3T SH HiE TRa 8§

(1) 2,000 % &I 3SR 56T |

(2) T 500 TYEET SHHT W 9T |

(3) 3,000 % A FI YR fohT |

4) 5,000 % T <7 foet i 7% qRTE 8 W e | 4

The Quick ratio of a company is 0.8 : 1. State with reason whether the following

transactions will increase, decrease or not change the quick ratio :
(1)  Purchase of loose tools I 2,000.

(2) Insurance premium paid in advance ¥ 500.

(3) Sale of goods on credit ¥ 3,000.

(4) Honoured a bills payable ¥ 5,000 on maturity.
17 [P.T.O.



22.

67/1/3

I AT T1fetd eid &, i & § @ qaR 6T S & | 3 faagor T gemT =61 &
Bl & TTEeh TN W U ST ! ATiuedl Uel faeita e o fora # Fehe fehret <1 weh
& T Tk SUANTRAT S STEHT § THST oh 7T ST SUANT 3T+ SqTeh fAorar | 3reiqut
T F TH |

SIS HAT W UH Bl &1 gedl I ven HIY e e frdt e e faci
faeRoT TR A T T AT | I8 off Sooi@ Hite foh e stfutem, 2013 g 11
% ITER U HEHT o (e foeorer § f wei ot oo e e qen su-eie %
T SR S |

T G, Y- 3Tard 0T T ST, YSITd il W 0 e feste |

Financial statements are prepared following the consistent accounting concepts,
principles, procedures and also the legal environment in which the business
organizations operate. These statements are the sources of information on the basis of
which conclusions are drawn about the profitability and financial position of a
company so that their users can easily understand and use them in their economic

decisions in a meaningful way.

From the above statement identify any two values that a company should observe
while preparing its financial statements. Also state under which major headings and
sub-headings the following items will be presented in the balance sheet of a company

as per Schedule III of the Companies Act 2013.

General Reserves, short term loans and advances, Capital work in progress and design.

18



23.

67/1/3

31 O, 2016 i AR.TF. fafee 1 feafq foeror i R 4 o -
AR ud, fafees %131 9, 2016 1 fexfa faewor

P =ﬁz' 31-3-2016 | 31-3-2015
q. 4 4
[ |HAT T ATt
(1)  3ferem fAfeat
(a) 79T Yol 9,00,000 |  7,00,000
(b) TIF TS Iy 1 2,50,000 |  1,00,000
(2) 37l SFAY
ZreehretI=T 0T 2 4,50,000 | 3,50,000
(3) ] 3L
(a) TGN 0T 3 1,50,000 75,000
(b) TIHAN TEEH 4 2,00,000 |  1,25,000
E] 19,50,000 | 13,50,000
II. uRgmfaat
(1) 3/ aRE Tt
(a) T ErEt
i) 9 5 14,65,000 |  9,15,000
(i) o/ 6 1,00,000 | 1,50,000
(b) 3= AW 1,50,000 |  1,00,000
(2) =e uREEtEt
(a) Te] FqarwT 40,000 70,000
(b) T (AT 7 1,22,000 72,000
(c) Ihg AT Uhg oA 73,000 43,000
F 19,50,000 | 13,50,000
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i e

=ﬁ;— s 31-3-2016 | 31-3-2015
9. ? ?
TOg U I (MR AT ToakoT
L)) 2,50,000 | 1,00,000
2,50,000 | 1,00,000
ERIAN R0 — 12% FOTIS 4,50,000 | 3,50,000
4,50,000 | 3,50,000
TR 0T — o SRy 1,50,000 75,000
1,50,000 75,000
4. | AIHCAA TEEH — TS ST 2,00,000 | 1,25,000
2,00,000 | 1,25,000
T uRgEEr
EiCE) 16,75,000 | 10,55,000
T TooeTd (2,10,000) | (1,40,000)
14,65,000 | 9,15,000
3T gt
= 1,00,000 | 1,50,000
1,00,000 | 1,50,000
Wi (ATeTg)
wih (forsht o ferw =rer) 1,22,000 72,000
1,22,000 72,000
Frferfer g==
(1) % 1,00,000, 12% o=t &1 F9 31-3-2016 i T T |
(2) 99 uH T D e T 80,000 o TAT N W Ut Joagrd T 40,000 o7 H
% 10,000 T B 9T <=1 74T |
ThE TATE {60l TR HifST |
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Following is the Balance Sheet of R.S. Ltd as at 31° March, 2016 :
R.S. Ltd. Balance Sheet as at 31-3-2016

Particulars Note | 31-3-2016 | 31-3-2015
No. z z
L Equity and Liabilities
(1)  Shareholder’s Funds
(a) Share Capital 9,00,000 7,00,000
(b) Reserves and Surplus 1 2,50,000 1,00,000
(2) Non-current Liabilities
Long-term borrowings 2 4,50,000 3,50,000
(3) Current Liabilities
(a)  Short-term borrowings 3 1,50,000 75,000
(b)  Short-term provisions 4 2,00,000 1,25,000
Total 19,50,000 | 13,50,000
II.  Assets
(1) Non-current Assets
(a) Fixed Assets
(i) Tangible 5 14,65,000 9,15,000
(i) Intangible 6 1,00,000 1,50,000
(b) Non-current Investments 1,50,000 1,00,000
(2) Current Assets
(a) Current Investments 40,000 70,000
(b) Inventories 7 1,22,000 72,000
(c) Cash and Cash Equivalents 73,000 43,000
Total 19,50,000 | 13,50,000

21
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Notes to Accounts :

Note 31-3-2016 | 31-3-2015
Particulars
No. 4 4
1. | Reserves and Surplus (Surplus i.e. Balance
in the Statement of Profit and Loss) 2,50,000 1,00,000
2,50,000 | 1,00,000
2. | Long-term borrowings — 12% Debentures 4,50,000 | 3,50,000
4,50,000 | 3,50,000
3. | Short-term borrowings — Bank overdraft 1,50,000 75,000
1,50,000 75,000
4. | Short-term provisions — Proposed Dividend 2,00,000 1,25,000
2,00,000 | 1,25,000
5. | Tangible Assets
Machinery 16,75,000 | 10,55,000
Accumulated Depreciation (2,10,000) | (1,40,000)
14,65,000 | 9,15,000
6. | Intangible Assets
Goodwill 1,00,000 1,50,000
1,00,000 | 1,50,000
7. | Inventories
Stock in trade 1,22,000 72,000
1,22,000 72,000

Additional Information :

ey)
2)

% 1,00,000, 12% Debentures were issued on 31-3-2016.
During the year a piece of machinery costing ¥ 80,000, on which accumulated

depreciation was ¥ 40,000, was sold at a loss of ¥ 10,000.
Prepare a Cash Flow Statement.
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18.

19.

20.

21.

22.

23.

[CLUCIERE |
PART -B
faeT - 11
Option - 11
(e fers eais)
(Computerized Accounting)

T A H T A § 2

What is a ‘Database’ ?

3TTeRET T TTIeH, UTHAUT e STENUT ofeiiel aiieh § i H Ugert Wteady o foh=el &1 ariehl o
A ddret |

Name any two software tools for organizing, processing and querying data in flexible

manner.

HIFATY o 3T TR 1 AT IaTd gU FHAET S Sgsuanmeshaist aon fafe= ®I o et gu
T ATAGIID TS hl SATAHATS Bt T e & |

Name and explain the type of software which meets the requirements of large business

organizations with multi-users and scattered locations.

SR TG WReR % fohwal = vl i THAET |

Explain any four advantages of computerized accounting software.

G o T Y T 2 foete w wRe v 9 foeg ver i 7 2

What is meant by a “Form” ? How ‘Split Form’ is different from ‘Simple Form’ ?

3T I HT A TATY ST T GO bl TAIAT e oot Tef T & TSl i eorar & JRieT
T H IR A A UH R & | Tk [Sheal U ool ol Soeid iy |

Name the table which is an interactive way to quickly summarize large amounts of data.

State its any five advantages.
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